Z6

2SB772D (3CA772D) FEPNP 3 E{K=4%%/SILICON PNP TRANSISTOR

3 AT 3 BUd USRS, P S T A, R A SR A 4K R KB

Purpose: Output stage of 3 watts audio amplifier, voltage regulator, DC-DC converter and relay
driver.

B S AR B/, hes B HLZ MU /Features: Low saturation voltage, excellent hm linearity
and high hpr.

Fe PR 241/ Absolute maximum ratings (Ta=25°C) .
SRS Wi | e P
Symbol Rating Unit 1 O
Vo -40 V : l:l ,
Voo -30 v I .‘
VEB[) 75. O V S -+
I, 23,0 A o
P.(T,=25°C) 1.0 W R R
P.(T=25°C) 10 W e os es I s 1w
TJ 150 °C |11 5. 3 ] 3
T.., -55~150 °C 3|k 1.B 2.C 3.E
TO-252
H M Be 2 # /Electrical characteristics (Ta=25°C)

= i

T MR A Rating FAA

s Tz . Test Condition &/AME | LA I AH | Unit

ymbo Min Typ Max

VCB[) ICZ*IOO |3 A IE:O 740 V
VCEO IC:_lmA IB:O _30 V
VEBO IE:_lo |9 A Ic:O _5. O V
Lo Ve=—30V 1,=0 -1.0 pA
IEBO VEB:73- OV IC:O 71. O |3 A
hgz Ve=—2. 0V I~=1.0A 60 160 400
heee Vee==2. 0V I~=-20mA 30 220
VCE(sat) IC:_Z. OA IB:_O. 2A _0. 3 _O. 5 V
Ve (sat) I=2.0A I;=—0. 2A -1.0 -2.0 v
fT VCE:75- OV ICZ*O. IA 80 MHZ
Cob VCB:_IOV IEZO le. OMHZ 55 pF

hee oy 7344 /heeyclassifications: R:60~120 Q:100~200 P:160~320 E:200~400
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